North America

11 times tables

Ox11= 44 - 11 = 121+ 11 =
55 +11 = 8 x11= Ox11=

11x10 = 2 x11= 8 x 11=

11x7-= 44 - 11 = 66 + 11 =
3x11= 88 +11= 11+11=
11x2-= 11x6-= 22 = 11=
33 +11= 12 x11= 110+ 11 =
11x5= 9x11= 3x11-=

11x0-= 99 - 11-= 77 =11 =
11x11-= 7 x11= 11x12 =




North America

7 times tables

3x7= 35+7 = 84 +7 =
7x5= O9x7-= 7x4:=
Ox7-= 84 +7 = 42 =7 =
7x7= 70 +7 = 7+7-=
7x2= 7x6= 56 = 7=
7 x10 = 2x7-= 1x7=

21+ 7= 12x7-= 28 =7 =
7x0-= 14 -7 = 77 +7 =
7x11= 7x3= 11x7 =
49 +7 = 8x7-= 2 X7 =




North America

12 times tables

12 = 12= 12x12-= 108 =12 =
12x5= 9x12-= 12 x4-=

12x0-= 7212 = 48 - 12 =
12 x11= 12 x 3 = 11x12 =
3x12-= 24 -12 = 60 =12 =
12x2-= 12 x 6 = 96 + 12=
12x 10 = 2x12-= 1x12=

12x7-= 84 12 = 144 - 12 =
Ox12-= 108 - 12 = 120 +12 =
36 12 = 8x12-= 2x12:=




